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(The radius of earth is 6440 km. Dhaka and Chattogram
creates an angle of 5° at the center of the earth. What is
the distance between Dhaka and Chattogram?)
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(The radius of earth is 6440 km. Dhaka and Chattogram
creates an angle of 5° at the center of the earth. What is
the distance between Dhaka and Chattogram?)

Sol":
AT, S35 (P = 5°
180
=0.087

NefT6! 7Y = 0.087x6440x1000
= 561996 m
= 5.62 km ()



ST TN 6440 .10, | (GF1% 8 (OgferT AIF ‘; N

(FCU 10°6'3” (1T BT I | (GFAH 3 (OQfTNF e \g S o o g
FHRO] YT $9? T/
o 7= ~(0~J
(The radius of earth is 6440 km. Teknaf and Tetulia ( < )/QD/D
creates an angle of 10°6’3” at the center of the earth. ® C Fry
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(The radius of earth is 6440 km. Teknaf and Tetulia
creates an angle of 10°6’3” at the center of the earth.
What is the distance between Teknaf and Tetulia?)

Sol":
9T, S TF (F1T = 10°6°3”

3 o
60:-(60)

= 5
=(10+ -+

=10.1°

_ 10.1xm
~ 180

=0.176

TeT6! 799 = 0.176x6440x1000
= 1135291 m
= 1135.3 km (T)
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(Shahed crosses a circular arc by bicycle in 11 - ——
f f 30° \ v e 37
seconds. If the arc creates an angle o , éﬂ)’ %) Dg(@; 33
and the diameter of that circular path is 201 CZSY = /jsﬂ)
meters, then how much is the velocity of >
Shahed?) 3
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(Shahed crosses a circular arc by bicycle in 11
seconds. If the arc creates an angle of 30°,
and the diameter of that circular path is 201

meters, then how much is the velocity of

Shahed?)

Sol":

9T, TR 5T (FTT = 30°

_ 30xm

180
=0.5236

Fel UEY = 0.5236%

201
2

= 52.62 m (1)
e = 222 = 4,

78 m/s ()
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(The radius of earth is 6440 km. What is the
distance of two places, which make an angle of

32" at the center of the earth?)
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(The radius of earth is 6440 km. What is the

distance of two places, which make an angle of

32" at the center of the earth?)

Sol":
AT, ST (F]T = 32”

- ( 32 s
60X60

=0.0089°

_ 0.0089x7
180

=155 x 10"*

FHTRG] GAY = 1.55 X 107*x6440 x 1000
=998.2m
=1 km (219)



& 9:30 B &fF F61 8 G FHE J@fe e

\ | 2.~ >( -~ €0 Aﬂ\)
@ @SIE@ T I [REe: 9F 79 (@F@G ”b\obb A
6° (1T T | 9:30 BIF TREF THI FoT 8 /@) 5 (o b 9Lob (N4 ERM4U0®
RifGa Fb1E W&y FIEE (15+2.5) q1 17.5 =4] : = ) 460 § ,
' M -
(Express the angle (in radian) between the hour S Ce &;0) o5 ol qu/u
hand and the minute hand of the clock when it = ¢ "
is 9:30 am. [Hint: the minute space creates an SI{\ 2 > e’g
PI(SAAL =
angle of 6° in the center. At 9:30, the . T ald : 4 9
difference in hour hand and minute hand is (o lbo W4 @ C’(ﬁ?ﬂ] ZO’U?{ AR
(15+2.5) or 17.5 spaces.] q =P - O .
(Qtﬁ . \ LU 0 X " $ < J o
SO , : 7 TR
R -\ Co
© yUo
\g l’\m . t‘ra ( . ?@ - Q , S‘ LJ_‘;
- (; O . b te (ﬁ- (A/p '




wﬁgmmmemmmﬁ
@ @OIME I FETN [R@Fe: 9F 79 (FCq
6° (@19 T35 &I 9:30 B HGA ThIF 6T 3
RIfGa FIBIF JEY 9 (15+2.5) 1 17.5 =9]

(Express the angle (in radian) between the hour
hand and the minute hand of the clock when it
is 9:30 am. [Hint: the minute space creates an
angle of 6° in the center. At 9:30, the
difference in hour hand and minute hand is
(15+2.5) or 17.5 spaces.]

Sol":

AT, ST (F19 = 6°x17.5
=105
_ 105xmT
~ 180

= 1.833 (I9)

v

AN
A

e

G

1l

G

)
(e



A% fe JaIFF T 6 fF. Aétﬂ@t_@as(ﬂmﬁr

FETT AT P ©F (I 60° (FTT T T 37| J@A 5 <G8 Clem/B

T el el . S

(A guy runs with the velocity of 6 km per hour g,ﬂ%p“

and covers a circular arc, which makes an (5{/ -

angle of 60° at the center of that circular path. C € (Y& 4

Determine the diameter of that circular path.)
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(A guy runs with the velocity of 6 km per hour

and covers a circular arc, which makes an

angle of 60° at the center of that circular path.

Determine the diameter of that circular path.)

Sol":
9T, B TTH (F] = 60°

_ 60xT
~ 180

=1.047
SIe@ST = 6 km/h

_ 6x1000 —1
60x60

=1.67 ms™1
THTIG! 49T = 36 X 1.67 = 60m

T =L —573m

1.047
(P =2 x 57.3=114.6 m ()
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(A hill creates an angle of 8 from a point at %/

750 km distance. Determine the height of the

hill.) FsoL
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(A hill creates an angle of 8 from a point at

750 km distance. Determine the height of the
hill.)

Sol":
AYTH, STF (P17 = 8
8

— o

~ %60
=0.133°

_ 0.133xm
180

=2.33x1073
TRIGT Sl = 2.33 x 1073 x 750 x 1000

=1747.5m
=1.74 km
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Same as General maths, Theorles‘ and Values.@ s > o v S0
sin“0 +cos’0 =1 500 et / o Cos 0 . SN
o N _ e
&2 p /\DA & S, n®
sin’0 +cos’0 = 1 (+cos’0) yoee¥ N
A sin B cos B tan & cot 4 seC & cosec b -
cos’ 0 cos’0 cos” ‘e ‘o \\\q ?/
\;Hﬂ—sec 0/ 3 40 = 7 A PO S e T —
HHi
( ‘ ) 30° 1/2 N3z | 143 {3 243 2
sin”0 + cos’0 = 1 (+sin’0) o — _
siﬁfﬂ silllﬂ sinlﬂ = @‘(LG o 450 \«szz Y242 1 1 {2 2 \fL
{71@ - 9 (G
]+I:ntzﬂ=cnsecz @ / C» £0° 32 1/2 'k 1743 y ALK}
= s—tn
o 3 N . . o o5
secO = =y G B sin B 90 1 é_§b0 0 1
1 W cos B NS
B = sin 0 cos 0 W\‘\ g &u/$k\ ?)
T cot0 = — A g
coth = —T sin B W mgw



The quadrants and significance

90°
IT Quadrant I Quadrant
Sin © and Csc © All are positive
are positive (A)
(S) SEl s
180° 0° A
III Quadrant IV Quadrant
Tan 6 and Cot 6 Cos 6 and Sec 6 \%D ({/ P 0
. . - b /
are positive are positive yﬁ“ ////
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\N"(%FQ o— cosA AR tanA A9 | $9? \
2 - 3;: Srw A
SinA == anan < A < — is given, " -
A=—andm <A< e A
Crysp
what is the value of cosA and tanA?)
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2. sinAz%aa’an<A<3§3acmﬁ,

(sind =

what is the value of cosA and tanA?)

V5

cosA AR tand AF AT $9?

1 S
andmw < A <?H Is given,

Sol™

@1 eIy sgerel
AT S,

36T QO SinA 3 cosecA W JTFBE

@il
SARET S,

cosA =+ 1 —sin?4
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(W3] AR, tanA = —% a3g

tanA 3 cosA ﬁl”‘lﬁ ASIEIRE
SiNA 8 cosA A9 N9 P97

Sol™
A}, cosA HaEF BTfEfE]
@1fe 8% TROTS

FIFA, AT Sfe,

8% ERONST COSA 3 secA FM JNFSE (WG|

ST S,
secA =4/1 + tanZ4

= \/ﬂ [8% E@OI]



Prove that, g secA — tanA
SinA o WT )L
[ 5 o ¥
) A [ [=sin /A
RN | ot R
s/ (F Sm? (1=577) = \\Q*S«'m‘)\”
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Prove that,

Sol™

1—sinA
1+sind

_ |(1—sinA)(1—sinA)
"~ 1 +sind)(1—sind)

_ |[(1—sinA)?
1—sinZA

1 sin4
cosA cosA

= secA — tanA



If\fosA — sind)= V2sin4,

then show that cosA + sind = V2 cos A

)

Sol™
cosA — sind = /2sind
Or, V2(cosA — sind) = /2.4/2sinA
Or, V2cosA —2sind = 2sinA
Or, V2cosA — cosA + sinA = 2sinA

Or, V2cosA = 2sinA — sinA + cosA

Or, cosA + sinA =+/2cosA
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Thank You
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